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QID : 1 - How many three digit numbers are there in which all the digits are odd?
i sient arelt O fohat dveamd § o waft sie fawmr €2
Options:

Correct Answer: 125
Candidate Answer: 125

QID : 2 - If the sum of ten different positive integers is 100, then what is the greatest possible number among these 10 numbers?

afg <9 faf9a emTeres quifert a1 @l 100 &, at 37 10 Swearell § gad I Semfad et & 8?
Options:

Correct Answer: 55
Candidate Answer: 55

QID:3-If N=10.369369369369... and M = 0.531531531531..., then what is the value of (1/N) + (1/M)?

af& N = 0.369369369369... 4T M = 0.531531531531... &, @t (1/N) + (1/M) a1 AT T 8?2

Options:

1) 11100/2419
2)111/100

3) 1897/3162
4) 2419/11100

Correct Answer: 11100/2419
Candidate Answer: 11100/2419

QiD:4-

_ 0.216+0.008
IFA 0.36 +0.04 -0.12
- 0.729-0.027

081+0.09+027°
of (A2 + B2)2?

and

then what is the value

0.216 +0.008
A e
k- 0.36+0.04-0.12
_ 0728-0027
0.81+0.08+0.27

AT F4T 87

g ar (A2 + B)? &

Options:

1)0.8

2)1

3)1.4

4)2.2

Correct Answer: 1

Candidate Answer: 1
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QID:5-
1 1 1 1 1
B it d "33 In7 30
+ 1 ... upto 20 terms, then what is the
7x10
value of A?
1 1 1 1 1
A A d T e B
+——1——u_ 20 9 o< &1, af A & HAT
T=10
T 87
Options:
1) 379/308
2) 171/140
3) 379/310
4) 420/341

Correct Answer: 420/341
Candidate Answer: [ NOT ANSWERED ]

QID: 6-1f 56 x 75 x 60 x 84 x 210 = 2P x 39 x 5" x 75, then what is the value of [(p + g)/s] + r?

IfE 56 x 75 % 60 x 84 x 210 = 2P x 39 x 5" x 7S g, &Y [(p + q)/s] + r < A T &7
Options:

1) 6

2)8

3)12

4)10

Correct Answer: 8

Candidate Answer: 8

QID:7-

1 1 47 47
fAn3xa e840 % ang
4""% 3216

B= 21 +51+55 g i , then what is the value
) 10

of A-B7?

11 47 47
afy A=3-xd—+34-20, 30 o
4 "% 32 16
11

11
B=2—+5—-+55-— A—B &1 A
27 V7 10 w, at
FaT &7

Options:

1) 5/8

2)1

3)0

4)3/8

Correct Answer: 3/8

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - What is the sum of all natural numbers between 100 and 400 which are divisible by 13?

100 4T 400 & Aeg it Urepicren dveanatt a1 ahT e g St 13 § [ 82
Options:

1) 5681

2) 5334

3) 5434

4) 5761

Correct Answer: 5681

Candidate Answer: 5681
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QID : 9 - If the least common multiple of two numbers, 1728 and K is 5184, then how many values of K are possible?

g 3t Teesif 1728 a1 K o g TaIac 5184 8, at K & faha A1 Tora &2
Options:

1) 11

2)8

3)6

4)7

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]|

QID : 10 - If (333 + 333 + 333) (233 4 233) = 6X then what is the value of x?

afy (333 + 333 + 333) (233 + 2B = o* Y, A x F AT AN E?
Options:

Correct Answer: 34
Candidate Answer: 34

QID : 11 - Which of the following statement(s) is/are true?

. (65)1/6 S (17)1/4 > (1 2)1/3
. (17)1/4 > (65)1/6 > (1 2)1/3
. (12)'3 > (17)V4 > (65)1/6

Frafaf@a sum/sya & @ @ 9/ g /82

1. (65)1/6 > (17)1/4 > (1 2)1/3
. (1 7)1/4 > (65)1/6 >(1 2)1/3
. (12)'3 > (17)V4 > (65)1/6
Options:

1) Only |

et |

2) Only Ill
had |l
3) Only Il
SHad |l

4) None of these

T8 @ g T

Correct Answer: Only Il
haet Il

Candidate Answer: None of these

T A A e
QID:12-If P =7+ 4v3 and PQ = 1, then what is the value of(1/P2) + (1/02)?

R P =7+4v3aPQ =18 @ (1/P2) + (1/Q2) &1 7 T &2

Options:

1) 148

2) 189

3) 194

4) 204

Correct Answer: 194
Candidate Answer: 194

QID:13-1fx = (V5) + 1andy = (v5) - 1, then what is the value of (x2/y2) + (y2/x2) + 4[(x/y) + (y/x)] + 62

Tfe x = (v5) + 1aquTy = (vV5) — 1 &, af (x2/y2) + (y2/x2) + 4[(x/y) + (y/x)] + 6 &1 A1 a1 2
Options:

1) 31

2) 23v5

3) 27V5

4) 25

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID:14-Ifx=2+v3,y =2 - v3 and z = 1, then what is the value of (x/yz) + (y/xz) + (z/xy) + 2 [(1/x) + (1/y) + (1/2)]?

g x=2+v3,y=2-v3aurz =18, a (x/yz) + (y/xz) + (z/xy) + 2 [(1/x) + (1/y) + (1/2)] &1 AF w1 &2
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Options:

1) 25

2) 22

3)17

4) 43

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 15 - A root of equation ax2 + bx + ¢ = 0 (where a, b and ¢ are rational numbers) is 5 + 3v3. What is the value of (a2 + b% + ¢2)/(a + b + ¢)?

THten<or ax2 + bx + ¢ = 0 (S8l a, b a1 ¢ RAT T &) 1 5e1 5+ 3v3 81 (a2 + b2 + c2)/(a + b+ c) I AR FT&?
Options:

1) 35/3

2) 37/3

3) - 105/11

4) - 105/13

Correct Answer: — 105/11

Candidate Answer: [ NOT ANSWERED ]|

QID: 16-If x = (a/b) + (b/a), y = (b/c) + (c/b) and z = (c/a) + (a/c), then what is the value of xyz - x2 - y2 - 722

e x = (a/b) + (b/a), y = (b/c) + (c/b) TUT z = (c/a) + (a/c) &, ¥ xyz — X2 - y2 - 22 T A T &?
Options:

1)-4

2)2

3)-1

4) -6

Correct Answer: — 4

Candidate Answer: [ NOT ANSWERED ]

QID: 17 - If [a + (1/a)]? - 2[a - (1/a)] = 12, then which of the following is a value of 'a'?

af[a+ (1/a)]2 - 2[a - (1/a)] = 12 &), & F=AfeiRd & § & a1'a’ o1 e 7 82
Options:

1)-8+v3

2)-8-v3

3)-8+5

4) None of these

Correct Answer: None of these
T A T
Candidate Answer: [ NOT ANSWERED ]

QID : 18- If X2 - 4x + 1 = 0, then what is the value of x® + x” — 194x5 - 194x3?

gl x2 - ax+1=08Ld x% +x7 - 194x5 - 194x3 &1 41 a1 82
Options:

14

2)-4

3)1

4) -1

Correct Answer: — 4

Candidate Answer: [ NOT ANSWERED ]

QID: 19 - If x +y = 3, then what is the value of x3 + y3 + 9xy?

i x +y = 38, @ x3 + y3 + Oxy o1 77 T &2

Options:

1)15

2) 81

3)27

4)9

Correct Answer: 27
Candidate Answer: 27

QID:20-A=(x8-1)/(x*+1)and B = (y* - 1)/(y2+ 1). If x= 2 and y = 9, then what is the value of AZ + 2AB + ABZ?

A=(B-1)/x*+1)auB=(y* - 1)/(y2+ 1) §1afk x = 2dury = 9 &, dt AZ + 2AB + AB2 ol HIF T 87

Options:
1) 96475
2) 98625
3) 92425
4) 89125
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Correct Answer: 98625
Candidate Answer: 98625

QID: 21-If x — 4y = 0 and x + 2y = 24, then what is the value of (2x + 3y)/(2x - 3y)?

Il x — 4y = 0 AT x + 2y = 24 &, &t (2x + 3y)/(2x — 3y) &1 T R &?

Options:
1) 9/5
2)11/5
3)13/7
4)9/7

Correct Answer: 11/5
Candidate Answer: 11/5

QID : 22 - If (x/a) + (y/b) = 3 and (x/b) — (y/a) = 9, then what is the value of x/y?

afe (x/a) + (y/b) = 3 a4 (x/b) — (y/a) = 9 &, at x/y a1 71 FT &7
Options:

1)(b+3a)/(a-3b)

2)(a+3b)/(b-3a)

3)(1+3a)/(a+3b)

4)(a+3b?)/(b-3a?)

Correct Answer: (b + 3 a)/(a—3b)

Candidate Answer: (a +3 b?)/(b - 3 a?)

QID: 23 -

In the given figure, OX, OY and OZ are
perpendicular bisectors of the three sides of
the triangle. If ZQPR = 865" and £PQR = 60°,
then what is the value (in degrees) of ZQOR
+ ZPOR?

& o ampfa &, OX, OY @wr 07 Fe
@ At et & @ gfewes B IR

ZQPR = 65" W £ZPQR = 60° @I,
ZQOR + £POR =1 AT (B 31) a7 87

Options:
1) 250
2) 180
3) 210
4) 125

Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

QID : 24 - In a triangle PQR, 2PQR = 90°, PQ = 10 cm and PR = 26 cm, then what is the value (in cm) of inradius of incircle?

IS PQR #, PQR = 90°, PQ = 10 &.#}. JuT PR = 26 ©.71. §, d 3id:g<1 el i &1 a1 (F.41. #) s g2
Options:

Correct Answer: 4
Candidate Answer: 4



www.makemyexam.in - Powered by IBT

QID:25-

In the given figure, if Qb =-1£ and PY =18
Xy 8

cm, then what is the value (in cm) of PQ?

QR 14 _
aﬁa@%ﬁ,uﬁﬁ=gmw-

18 .. &, af PQ & A= ([T FH) Far
¥4

Options:

1) 28

2)18

3) 21

4) 24

Correct Answer: 28

Candidate Answer: [ NOT ANSWERED ]|

QID : 26 - In a triangle PQR, PX, QY and RZ be altitudes intersecting at O. If PO = 6 cm, PX = 8 cm and QO = 4 cm, then what is the value (in cm) of QY?

ST PQR #, PX, QY dT RZ, 0 R Ufa=ae et g8 Sa1sai 1 afg PO = 6 9.4, PX = 8 §.+t. au1 QO = 4 §.#). §, at QY &1 A ((.41. ) s &2
Options:

1) 6.3

2)5.8

3)6

47

Correct Answer: 7

Candidate Answer: 5.8

QID : 27 - A line cuts two concentric circles. The lengths of chords formed by that line on the two circles are 4 cm and 16 cm. What is the difference (in cm?) in
squares of radii of two circles?

Tk [T & Gehf=iel il ol hTelt &1 I 3T GRT il UR SFTE 116 Shtareit o owag 4 .7 aor 16 F.#1. &) 1 gt it Broarsit & ol o o (&.+41.2 #) 7 &2
Options:

1) 240

2) 120

3) 60

4)90

Correct Answer: 60

Candidate Answer: 60
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QID: 28 -

In the given figure, a circle touches the sides
of the quadrilateral PQRS. The radius of the
circle is 9 cm. ZRSP = /SRQ = 60° and
ZPQR = ZQPS = 120°. What is the
perimeter (in cm) of the guadrilateral?

& @ sl # vE qed TGS PORS
oot ;N owd FW oW E g ;
F=ar 9 §HL ¥ £RSP = £S5RQ = 60°
T LPQR = £QPS = 120° §| IS &
qitATT (THT. #H) F4 §7

Options:

1) 36v3

2) 24v3

3) 48v3

4) 32

Correct Answer: 48v3
Candidate Answer: 48v3

QID:29-

In the given figure, from the point P two tangents
PA and PE are drawn to a circle with centre O
and radius 5 cm. From the point O, OC and OD
are drawn parallel to PA and PE respectively. If
the length of the chord AB is 5 cm, then what is
the value (in degrees) of ~COD?

& W e A, g P ¥ & god forme
Feg O F aw Tar 5 A & W PA T
PB a1 w9e e dish o &1 faeg 0 & OC
Jur OD F FAM: PA I9T PB & WAHIGT
di=r mar ¢ ofe Sier AB #r wwars 5 @A
& @ 2coD = A (Bl &) = #2

A
c
P ‘
D
B
Options:
1) 90
2) 120
3) 150
4) 135

Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

- Powered by IBT
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QID: 30 -

In the given figure, AB is a diameter of the
circle with centre O and XY is the tangent at
a point C. If ZACX = 35° then what is the
value (in degrees) of ~CAE?

& T FT A, AB vH gea Srwem deg
Of & au ¢ aw Xy, g C W &
99 @ g1 3y ZACX=35° g, df ZCAB
@1 A= (B #) F e

A X
C
B Y
Options:
1) 45
2) 35
3) 55
4) 65

Correct Answer: 55
Candidate Answer: 35

QID:31-

In the given figure, PQ is a diameter of the
semicircle PABQ and O is its center. ZAQB =
64°. BP cuts AQ at X. What is the value (in
degrees) of ZAXP?

& i wwfa A, PQ, adaca PABQ &
O § aur O SHA deg g1 LAOB =64°

gl BP, AQ &I X W FEdT g1 LAXP HT
A (B #) Fw g

Options:

1) 36

2) 32

3) 58

4)54

Correct Answer: 58

Candidate Answer: [ NOT ANSWERED ]

- Powered by IBT
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QID:32-

In the given figure, £ and F are the centers of
two identical circles. What is the ratio of area
of triangle AOE to the area of triangle DOC?
& M I A, £ AW F A TAET Feall
& ¥eg §1 P AOB & dawe & e
DOC & &iFhel & 4T 39T §7?

A B

E F

D C

Options:

Correct Answer: 1:9
Candidate Answer: 1:9

QID: 33 -

In the given figure, in a right angle friangle
ABC, AB =12 cm and AC = 15 cm. A square
is inscribed in the friangle. One of the
vertices of square coincides with the vertex
of friangle. What is the maximum possible
area (in cm?) of the square?

& ¢ smgfa F, v AT P ABC
#, AB=12 ¥ Fw AC =15 d.#. &
e & sffet v @& aamn T R e &
et F & vw P & o & wat wear
gl o w7 wowaws dwe dEwd (gAe
o) FTE? A

Options:

1) 1296/49

2) 25

3) 1225/36

4) 1225/64

Correct Answer: 1296/49

Candidate Answer: [ NOT ANSWERED ]

- Powered by IBT
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QID: 34 -

In the given figure, PQRS is a square of side
8 cm. ZPQQC = 60°. What is the area (in cm?)
of the triangle POQ?

& % IHT A, PQRS 8 FAHL ST aTem
T @@ E1 £PQO =60 ¥ PRl POQ &
grper (¥.7r2 ) Fam 2

P Q
9)
S R
Options:
1) 32v3
2) 24[(v3) - 1]
3) 48[(v3) - 1]
4) 16[3 - (vV3)]

Correct Answer: 16[3 - (v3)]
Candidate Answer: [ NOT ANSWERED ]

QID:35-

In the given figure, two squares of sides 8 cm
and 20 cm are given. What is the area (in
cm?) of the shaded part?

& W2 Rl A, 8 AT awr 20 AL

g arr & g A ) owifed s
& SEte (§.3r2 #) Far g7

Options:
1) 120/7
2) 160/7
3) 180/7
4) 240/13

Correct Answer: 160/7
Candidate Answer: [ NOT ANSWERED ]

QID : 36 - The area of a regular hexagon is equal to the area of the square. What is the ratio of the perimeter of the regular hexagon to the perimeter of square?

T WEHST AT ST T S St oh SRTeR | GH NSl o URATY T a7 o URATT & T S1guTd 87
Options:

Z@:Jﬁ
| 63 :2
4:/%:2\5
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Correct Answer:

M:fog

Candidate Answer: [ NOT ANSWERED ]|

QID:37 -

In the given figure, ABCDEF is a regular
hexagon of side 12 cm. P, @ and R are the
mid points of the sides AB, CD and EF
respectively. What is the area (in cm?) of
triangle PQR?

& 7§ el &, ABCDEF w& wA weaiwr €
ST sfem 12 F.3 €1 P, Q JUT R S

gt AB, CD awr EF & \ew famg ¥
fegst PQR &1 Bahe (W2 #) T 82

E D
R Q
2 c

A P B
Options:
1) 27V6
2) 81v3
3) 54v3
4) 54v6

Correct Answer: 81v3
Candidate Answer: [ NOT ANSWERED ]

QID : 38 - A man is running at the speed of 20 km/hr. What is time (in seconds) taken by man to cover one round of a circular garden of radius 350 metres?

Teh afh 20 forrl/eier &t mifa @ Ee 28T &1 ok gaTer afia foereht s 350 Hiex 8, Y uR &t | fch gRT foha1 v (Sehe #) forar Samm?
Options:

Correct Answer: 396
Candidate Answer: 396

QID:39-

In the given figure, four identical semicircles
are drawn in a quadrant. XA = 7 cm. What is
the area (in cm?) of shaded region?

& M FF A, TR FEET HdgeAl B TE
god & AqY oW A AT AT Fl XA =T
AL & OO WET @ SA%d (§.HT?

) T §7
D
c
X

Options:

1) 70

2) 140

3)77

4) 84

Correct Answer: 84
Candidate Answer: [ NOT ANSWERED |
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QID : 40 - A regular hexagonal base prism has height 8 cm and side of base is 4 cm. What is the total surface area (in cm?2) of the prism?

Teh T YT SR arel ew Y Fars 8 QY. & Fom SR &t oot 4 .4, &1 5w o1 et gtg @sthet (@412 §) 82
Options:

1) 54(3 + v3)

2) 36(3 +v3)

3) 48(4 + v3)

4) 24(4 + v3)

Correct Answer: 48(4 + V3)

Candidate Answer: 48(4 + v3)

QID : 41 - A cube is placed inside a cone of radius 20 cm and height 10 cm, one of its face being on the base of the cone and vertices of opposite face touching the
cone. What is the length (in cm) of side of the cube?

Teh O ol Uen i foraeht s 20 .4, aar $ams 10 9.1 €, 3 Sicr 31 ST 8, I6<h! Toh g g o TR &Y 3R & T faudia wag & 2fief oicp o1 wuf e 3@ 81 &9 ol o
s (3.1 #) Fr @2

Options:

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

QID : 42 - A cylinder of radius 4.5 cm and height 12 cm just fits in another cylinder completely with their axis perpendicular. What is the radius (in cm) of second
cylinder?

e Soi foraeht Brean 4.5 3.4t qun Fars 12 @41, &, ot Uk o ot & 3 v1eil & eiviad O o & gefed fokar ma 81 IR S i B (.. F) i g?
Options:

15

2)6

3)15

4)75

Correct Answer: 7.5

Candidate Answer: 6

QID : 43 - Aright circular cylinder has height 28 cm and radius of base 14 cm. Two hemispheres of radius 7 cm each are cut from each of the two bases of the
cylinder. What is the total surface area (in cm?2) of the remaining part?

Toh T TelTehR S Y $ars 28 .7, qorm amerR Y Broar 14 9.of). 81 3o & 3 amemdt & @ vcdies @ 7 3.7 Frun arel &) srefiiel i o €1 A9 9 6t et gt ket (3712 )
1 g

Options:

1) 3842

2) 4312

3) 3296

4) 4436

Correct Answer: 4312

Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Two spheres of equal radius are taken out by cutting from a solid cube of side (12 + 4v3) cm. What is the maximum volume (in cm3) of each sphere?

Ta BT aret &) et ot Yo 319 O fREeht oot (12 + 4v3) .7, &, @ chre o Fichrett a1 81 7deh it bt Siferehaw simaa (.73 &) @ 2
Options:

1) 1077.31

2) 905.14

3) 966.07

4) 1007.24

Correct Answer: 905.14

Candidate Answer: [ NOT ANSWERED |

QID : 45 - Three toys are in a shape of cylinder, hemisphere and cone. The three toys have same base. Height of each toy is 2v2 cm. What is the ratio of the total
surface areas of cylinder, hemisphere and cone respectively?

i Rl S, Srefmet qT 27y o TR § | i1 Rl ot SR T9H &1 Tk et dhl $arg 2v2 9.1, §1 S, Srefriiet a0 i & ot gETT S1thet o ShAST: SUTd T 87
Options:

1)4:3:[(v2)+1]

2)4:3:[2+(V2)]

3)4:3:2v2

4)2:1:(1+v2)

Correct Answer: 4 :3:[(v2) + 1]

Candidate Answer: [ NOT ANSWERED ]
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QID : 46 - A solid cube is cut into 27 identical cubes. What is the percentage increase in the total surface area?

Ueh 319 O Sl 27 S O # Il ST & | el YEIT &5thet | foha Hfaerd &1 gfg g3 87
Options:

Correct Answer: 200
Candidate Answer: 200

QID : 47 - A regular square pyramid has side of its base 20 cm and height 45 cm is melted and recast into regular triangular pyramids of equilateral base of side 10
cm and height 10v3 cm. What are the total numbers of regular triangular pyramid?

Ueh 9 iR fOR1Ae foiereh smerR &t st 20 @41, dur Sars 45 9.5, 8, @l e a9 Brysier fRifis & erem Sirar & fSieeh Twarg SR &t eT 10 J.4). Jur $=18 10v3
1. &1 gm Reqener el fi gor g = 82

Options:

1)24

2) 20

3) 27

4)28

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]|

QID : 48 - What is the value of [(sin 7x — sin 5x)+(cos 7x + cos 5x)] — [(cos 6x — cos 4x)=+(sin 6x + sin 4x)]?

[(sin 7x — sin 5x)+(cos 7x + cos 5x)] — [(cos 6x — cos 4x)+(sin 6x + sin 4x)] T A T &2
Options:

1)1

2) 2 tan x

3)tan 2 x

4) tan (3 x/2)

Correct Answer: 2 tan x
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - What is the value of [(cos® 26 + 3 cos 28)+(cos® 8 - sin® 6)]?

[(cos® 26 + 3 cos 28)+(cos® 8 - sin® B)] &1 & =T &2
Options:

10

2)1

3)4

4)2

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID:50-
What is the value of

tan[EJ—A «tan 2+ A2

4 4

ian[E + AJ P ta-m[E + A]
4 4

& AT F4T §7

Options:

1)1

2)0

3) cotA/2

4) -1

Correct Answer: — 1

Candidate Answer: [ NOT ANSWERED ]



www.makemyexam.in - Powered by IBT

QID: 51 -
What is the value of

[(secza +1)vsec’6- ‘1}( % (coté - tan)?

[{secze+1)Jsecza—1}x%{cote—tana} Eal
" F4T g7

Options:
10

2)1

3) cosec 6
4) sec©

Correct Answer: 1
Candidate Answer: 1

QID : 52 - What is the value of sin (630° + A) + cos A?

sin (630° + A) + cos A T AT 3T &?

Options:

1) v3/2

2)1/2

3)0

4) 2/V3

Correct Answer: 0
Candidate Answer: 0

QID : 53 - What is the value of [(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)]?

[(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)] &1 AT T &?

Options:

1) 1/v2

2) 2v2

3)v3

4)v2

Correct Answer: v2
Candidate Answer: v2

QID : 54 - What is the value of cos (90 - B) sin (C — A) + sin (90 + A) cos (B + C) — sin (90 - C) cos (A + B)?

cos (90 - B) sin (C — A) + sin (90 + A) cos (B + C) — sin (90 — C) cos (A + B) &l A &1 82
Options:

1)1

2)sin(A+B-C)

3)cos(B+C-A)

4)0

Correct Answer: 0

Candidate Answer: 0

QID : 55 - Two trees are standing along the opposite sides of a road. Distance between the two trees is 400 metres. There is a point on the road between the trees.

The angle of depressions of the point from the top of the trees are 45° and 60°. If the height of the tree which makes 45° angle is 200 metres, then what will be the
height (in metres) of the other tree?

3 g&1 Yo TSeh Y [Iudia fean & @S 1 a1 gafi & Hear ol g 400 Hiex 81 311 gaif & 7er ISk WR Qe fo=g & | &l ol atel & fomg ahT Sra=me ahior 45° a1 60° 81 I 98 gar it 45°
T I0T IATAT & T s 200 HeR 8, I TER g&T hl HaTs (Hex #) 1 8?

Options:

Correct Answer: 200v3
Candidate Answer: 200v3

QID : 56 - A tower stands on the top of a building which is 40 metres high. The angle of depression of a point situated on the ground from the top and bottom of the
tower are found to be 60° and 45° respectively. What is the height (in metres) of tower?

ek g gt Fard 40 e 2, & ey iR uar iR @ &1 iR & e qen ure fomg @ ff v fa e famg a1 sra= sntor shast: 60° dar 450 &1 #iAR 6t Fard (fex J) e
27
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Options:

1) 20v3

2)30(v3 +1)

3)40(v3-1)

4)50(v3-1)

Correct Answer: 40(v3 - 1)
Candidate Answer: 40(v3 - 1)

QID : 57 - From a point P, the angle of elevation of a tower is such that its tangent is 3/4. On walking 560 metres towards the tower the tangent of the angle of
elevation of the tower becomes 4/3. What is the height (in metres) of the tower?

e famg P 9, Uk HI9R T 399 10T 39 TR § T 3T Wi (Ssie) 3/4 g1 iR i &R 560 Hie Teim IR HFR & I74 hi0T el WeisdT (STeic) 4/3 g 91t &1 iR & Sarg
(HFrex B) 7 82

Options:
1) 720
2) 960
3) 840
4) 1030

Correct Answer: 960
Candidate Answer: [ NOT ANSWERED ]

QID: 58 -

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & g aifee 7 o fafdes ueat @ g
& o ol & ufdwd F quir = §
U T # Fad o gy fashdr A quT B
QU U g A & TS diferew Tededh Te g H
gy & oo fadhr & ufded 7 fahar A garr
& 5 fhr & gt ¥ gu & Fa R

200000 e ¥l
. Sales by salesman
State | Sales of milk A/ Tvar A A
1T | Iga R
ICE
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
U 14% 80%

What are the average sales of milk (in litres) by the salesmen A in all the given states?

g g Foft Tt & fahar A gRT el S g Y Sftad farsht (cfer #) fonat 87
Options:

1) 21866.67

2) 26466.6

3) 19200

4) 26000

Correct Answer: 21866.67

Candidate Answer: [ NOT ANSWERED |
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QID: 59 -

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & g aifee 7 o fafdes ueat @ g
& o ol & ufdwd # gt = F
A [T # Fad o g fashar A quT B
oy 3ud B A & 7 aifee g Ie 7
gy & T fadhr & ufded 7 fahar A garr
& 5 ffr & gt € gu & Fa R

200000 #reT ¥l
i Sales by salesman
State | Sales of milk A/ Tavar A g
1T | Iga i R
farshr
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% T0%
T 22% 60%
u 14% 80%

What is the respective ratio of sales of milk in state P and Q by salesmen B and the sales of milk in state R and T by salesmen A?

T8 P @t Q # fahar B gRT &l 7S gy T skl au asa R qun T F fahar A gRr 1 € g &Y fareh ot shwar: srguTal o &7
Options:

1) 52:109

2)104:217

3)52:31

4)31:57

Correct Answer: 104 : 217

Candidate Answer: [ NOT ANSWERED ]
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QID: 60 -

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & g aifee 7 o fafdes ueat @ g
& o ol & ufdwd # gt = F
A [T # Fad o g fashar A quT B
oy 3ud B A & 7 aifee g Ie 7
gy & T fadhr & ufded 7 fahar A garr
& 5 ffr & gt € gu & Fa R
200000 #reT ¥l

i Sales by salesman
State | Sales of milk A/ FrFar A camn
1T | Iga i R N

fashr
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% 70%
T 22% 60%
u 14% 80%

- Powered by IBT

What will be the central angle (in degrees) formed by the average sale of milk in state Q, T and S together?

TS Q, T quT S Tt At g% g &l ofiera fieht g1 sman S arenr ddi antor (feft &) arar ghmr?

Options:

Correct Answer: 54
Candidate Answer: [ NOT ANSWERED ]
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QID: 61-

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & g aifee 7 o fafdes ueat @ g
& o ol & ufdwd # gt = F
A [T # Fad o g fashar A quT B
oy 3ud B A & 7 aifee g Ie 7
gy & T fadhr & ufded 7 fahar A garr
& 5 ffr & gt € gu & Fa R

200000 #reT ¥l
i Sales by salesman
State | Sales of milk A/ Tavar A g
1T | Iga i R
farshr
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% T0%
T 22% 60%
u 14% 80%

What will be difference (in litres) in the sale of milk in state T by salesmen B and the total sale of milk in state R and S together?

g T faghar B gRT &t 7€ g1 Y frsht qar 37 R qu1 S # Aerem g3 g &t Gt feht & om ofaR (eftex #) 82
Options:

1) 17600

2) 42400

3) 38800

4) 19000

Correct Answer: 42400

Candidate Answer: [ NOT ANSWERED ]



www.makemyexam.in - Powered by IBT

QID: 62 -

The table below shows the sales of milk in six
different states as a percentage of total sales.
In each state only two milkmen A and B sell the
milk. The table below shows the sales of
salesman A as percentage of total sale of milk
in each state. The total sales of milk is 200000
litres.

A & g aifee 7 o fafdes ueat @ g
& o ol & ufdwd # gt = F
A [T # Fad o g fashar A quT B
oy 3ud B A & 7 aifee g Ie 7
gy & T fadhr & ufded 7 fahar A garr
& 5 ffr & gt € gu & Fa R

200000 #reT ¥l
i Sales by salesman
State | Sales of milk A/ Tavar A g
1T | Iga i R
farshr
P 24% 65%
Q 10% 80%
R 17% 50%
S 13% T0%
T 22% 60%
u 14% 80%

What is the difference (in litres) between the sale of milk in state R by salesmen A and the sale of milk in the same state by the salesmen B?

7T R # fcheT A gRT &Y 71 gy it fehY qom Tom o7 # faghar B gy &t S g Y freht & arr eieR (fex H) 87

Options:
1) 2000
2)0

3) 12000
4) 8000

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A beaker contains acid and water in the ratio 1 : x. When 300 ml of the mixture and 50 ml of water are mixed, the ratio of acid and water becomes 2 : 5.
What is the value of x?

e dftene & gflie ofR urhl & erguTa 1@ x &1 519 300 mi fAsror 8k 50 ml ur=it o6t e Sirar & |t gfre iR urit & fAsior & SruTd 2 1 5 &) SITaT 81 X < JIE 9T gh?
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 64 - A mixture is composed of 11 parts of pure milk and 2 parts of water. If 35 litres of water were added to the mixture then the new mixture will contain twice
as much pure milk as water, then how many litres of pure milk does the original mixture contain?

Teh Ao A 11 AT 5 g9 3R 2 A il 81 afe 3 fsior & 35 wftex urit S1erm T |t g fAsror & urt & goren 7 & 747 Y5 g 81, |t arafdes fsior 7 fhae ot (5 59 82
Options:

Correct Answer: 110
Candidate Answer: 110
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QID : 65 - A starts a taxi service by investing Rs 25 lakhs. After 3 months, B joins the business by investing Rs 40 lakhs then 4 months after B joined, C too joins them
by investing Rs 50 lakhs. One year after A started the business they make Rs 2,73,000 in profit. What is C's share of the profit (in Rs)?

A, 25 ARG T} 1 asr ech ot AfTH URY T 81 3 AE A a6 B, 40 TG IUAT el 31 dXeh faoT=d & S ST1aT & R B & fose @ 87 & 4 #eH a1& 50 dRg 0| & fAasr
P C +ff 3T S ST &1 A & foee TR &t & 1 99 a1g 38 2,73,000 FUTT &1 A1 giaT 81 &1 & C a1 91 (Fuat ) fehet=m givm?

Options:

1) 100000

2) 1,25,000

3) 75000

4) 1,50,000

Correct Answer: 75000
Candidate Answer: 75000

QID: 66 - A, B and C invest in a business in the ratio 4: 5: 7. C is a sleeping partner, so his share of profits will be half of what it would have been if he were a working
partner. If they make Rs 36,000 profit of which 25% is reinvested in the business, how much does B get (in Rs)?

A BaRCAfFR T d 4: 5: 7% srqura & Faer foram| C whfthn urdr & ora: Ige fewar 39 2w et st g siR ag afdhar uréR gidmi afe 3% 36,000 FUdT &1 A1 gtat &
e & 3 25% foome & g=: far e & € |t B Y fonaen fierm? (ot #)

Options:

1) 7560

2) 10800

3) 8640

4) 9200

Correct Answer: 10800
Candidate Answer: [ NOT ANSWERED |

QID : 67 - A can do a work in 36 days and B in 12 days. If they work on it together for 3 days, then what fraction of work is left?

A et oo Y 36 foT F o= GeparT & auT B, 12 o1 o Tepar &1 afe & S Ty & 3 11 deh e et & Y i et fehaTT T =T @72

Options:

1) 2/3

2)1/3

3)1/4

4)1/5

Correct Answer: 2/3
Candidate Answer: 2/3

QID : 68 - A can paint a house in 45 days and B can do it in 15 days. Along with C, they did the job in 5 days only. Then, C alone can do the job in how many days?

A frht TR ot 45 e & U e Tehar & ok B 38 15 3 & o Iahar &1 C & 1y et 3 39 1 ol haet 5 11 A e Tt €1t S1ahett C 3 foham el & e ardmm?
Options:

1)12

2)9

3)15

4)8

Correct Answer: 9

Candidate Answer: 9

QID : 69 - AB and C together can finish a task in 7.5 days. C is thrice as productive as A and B alone can do the task in 15 days. In how many days can A and C do the
job if B goes on leave?

A, B @1 C Tt s ol Qe e fereng 7.5 et & e Hendt 81 C 2l ST & A &t foifit 8 SR B SiheT s v Al 15 RA A R FepaT 51 AR B I IR AAT ST g al A SR C
fAeTeR 59 & ot foham 1 & ahe 2

Options:

Correct Answer: 15
Candidate Answer: 15

QID:70-A,BandC candojobin9,12 and 36 days respectively if they worked alone. A leaves after they have worked together for 3 days. In how many days can B
and C do the rest of the job?

afg A, B 3R C foheft o ot atdhet el & oY 3 S AT 9, 12 3R 36 et & ozt &1 <fi=1 AT aek ament &Mt 3 |1 1o aheet o 911G A IeT ST & | 319 §Q M &l B @1 C fohae i &
R AN?

Options:

Correct Answer: 3
Candidate Answer: 3
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QID : 71 - Giving two successive discounts of 40% is equal to giving one discountof _____ %.

3} IR 40% Te Th
Options:

% B o SRTER it 8

Correct Answer: 64
Candidate Answer: 72

QID : 72 - If a website is selling smartphone at Rs 18,000 which is marked at Rs 25,000, then what is the discount (in %) at which the smartphone is being sold?

IfE g aaase 25,000 T HHT aTet fohell TIE HIH l 18,000 T & 3= 6T & df WEHH R foha T2 (% ) et &1 82
Options:

Correct Answer: 28
Candidate Answer: 28

QID : 73 - If on an item there is 12% discount on the marked price of Rs 10,000 but the item is sold at Rs 8,360 only then what additional discount (in %) did the
customer get?

10,000 % &t SHId aTert fohet ag TR 12% e & STt & UR=g a%g 8,360 T H St SIIelt & f UTeeh aht fehai1 Sifaieh ge (% #) Fredt?
Options:

Correct Answer: 5
Candidate Answer: 5

QID : 74 - A shopkeeper marks up his wares by 125% and offers 25% discount. What will be the selling price if the cost price (in Rs) is Rs 640?

IS GIHMAR 3T TGS ol HFd 125% & T &1 & 3R 25% e &1 81 fS 57 w640 I § <1 faeha HJew (Iuat #) o1 ghm?

Options:
1) 1080
2) 1000
3) 920
4) 860

Correct Answer: 1080
Candidate Answer: 1080

QID : 75 - Priya's marks in History and Geography are in the ratio 5: 7. If she got 14 marks more in Geography than in History, what are her History marks?

gfagTe ofkR opmier & firam & Siehl a1 SrguTd 5@ 7 81 afe I8 3fAge &t g | ofTiel & 14 3ich s1fdres et § ot I8 s & fohaw s It 82
Options:

1) 49

2) 42

3) 56

4) 35

Correct Answer: 35

Candidate Answer: 35

QID : 76 - The ratio of present ages of Rahul and his sister is 3 : 4. Before 10 years the ratio of their ages was 13:19. What is Rahul's present age (in years)?

g TR IHEAT T T S H U 31 4 §1 10 T Uget STeh! ST A S1uTd 13 1 19 7| AGH el FrA 31 (I #) TR 82
Options:

1) 36

2) 48

3)42

4)54

Correct Answer: 36

Candidate Answer: 36

QID : 77 - What is the third proportional to 9 and 15?

9 3R 15 o1 Fe=T FATUIRAh a1 872

Options:
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Correct Answer: 25
Candidate Answer: 25

QID : 78 - According to the will, the wealth of Rs 11,50,000 was to be divided between the son and the daughter in the ratio 2/3 : 5/4. How much share did the son get
(in Rs lakhs)?

TEfad & SIER 11,50,000 % &Y HURY T dcart O SR Gt & &g 2/3 : 5/4 & Sigard & 111 G &t fohe=n fga faei? (ara & #)
Options:

Correct Answer: 4
Candidate Answer: 4

QID : 79 - If Rs 7,800 is to be divided between A, B and C in the ratio 1/2: 1/3 : 1/4, then how much share will B get (in Rs)?

af& 7,800 % A, B SR CH 1/2:1/3: 1/4 & SIUTd & qi¢ AT & o B ol foha fgwan faehm? (3 9)

Options:
1) 3600
2) 1800
3) 2400
4) 1200

Correct Answer: 2400
Candidate Answer: 2400

QID : 80 - Bunty had candies and chewing gums in his sweet box in the ratio 7 : 13. After he has eaten 8 candies and 11 chewing gums the ratio became 1 : 2. How
many candies does he have now?

& & freTs o oo # Shudiet ofk =g T a1 SiguTd 7 1 13 813Uk 8 it R 11 3 T @1 7 & 918 S1gUTd 1 : 2 B S11a 81 39k U 37 fohaT Shodiet aft gift?
Options:

Correct Answer: 27
Candidate Answer: 27

QID : 81 - The average weight of P Q and R is 71 kg. If the average weight of P and Q be 66 kg and that of Q and R be 76.5 kg, then the weight (in kg) of Q is.

P, Q 3R R &1 35 ao 71 fh.am. &1 afe P ok Q &1 sftad awi= 66 foh.am. 8fik Q 3R R @1 affwd awi= 76.5 fah.am. & @t Q o1 g (6.7, &) foram gm?
Options:

Correct Answer: 72
Candidate Answer: 72

QID : 82 - Rita buys 5 sarees at an average cost of Rs 2250. If she buys three more sarees at an average cost of Rs 2750, what will be the average (in Rs) of all the
sarees she buys?

31 7 2250 TG & i Tea § 5 Tifeat @ afe s fiF ok anfeat 2750 & ofted qew & @RI o wvit arfeat o offerd gea (Fu H) m ghm?

Options:
1) 2437.5
2) 2500
3) 2450
4) 2332.5

Correct Answer: 2437.5
Candidate Answer: 2437.5

QID : 83 - In a one day match of 50 overs in an innings the team A had a run rate of 5.3 runs per over. Team B is playing and 5 overs are left and the required run rate
to tie the match is 7.2 per over to match the score of Team A. What is team B's score?

e feawfia &9 8 &9 A 7 50 3ier Y ger Ut § 5.3 3 U SR Y ax & 3 SR | €19 B Vel 38 8 9k 5 SfiaR a2 gU € a1 O A S TR i R1eR) A & g srasge e 7.2
ufd e g1 &9 B &1 @k &1 87

Options:

Correct Answer: 229
Candidate Answer: 229
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QID : 84 - Average of all even numbers between 104 and 148 is

104 3R 148 & sfiw 6t goft T Trerai o1 sitaa foram gim?
Options:

Correct Answer: 126
Candidate Answer: 126

QID : 85 - A vendor buys bananas at 4 for Rs 3 and sells at 3 for Rs 4. What will be the result?

e fachar 3 3 & 4 et Wiear & ok 4 3 8 3 &t d7ar &1 uRom s ghm?

Options:

1) 43.75% profit
43.75% 9

2) 77.7% loss
77.7% &

3) 77.7% profit
77.7% 149

4) 43.75% loss
43.75% g1

Correct Answer: 77.7% profit
77.7% 19

Candidate Answer: 77.7% profit
77.7% 19

QID : 86 - A wholesaler sells a watch to a retailer at a profit of 8% and the retailer sells it to a customer at a profit of 12%. If the customer pays Rs. 8,448 what had it
cost (approximately) to the wholesaler (in Rs)?

ek 21k fchdl 8% &1 & W1 Greehs fAshdT ol Ueh Bt SrardT & 3R e fachdT 38 UTges ot 12% 1T & A1 ST &1 31 Mgk 8,448 IU S1aT T & af 2iteh fachar = o} enmemt
fham (Tt #) # @t oft?

Options:

1) 6984

2) 6082

3)7120

4)7022

Correct Answer: 6984

Candidate Answer: 6984

QID : 87 - A trader had 2000 kgs of rice. He sold a part of it at 10% profit and the rest at 16% profit, so that he made a total profit of 14.2%. How much rice (in kg) did
he sell at 10% profit?

foreft farshar < T 2000 5.2, TTae &1 59 Gk T 1 a8 10% AT TR JUT a2t §T AN &Y 16% AT TR T § Tich 39 et T+ 14.2% gl I8+ foha=t foh.amm. I8t 10% @ R
CEI

Options:

1) 1400

2) 600

3) 800

4) 1000

Correct Answer: 600
Candidate Answer: 600

QID : 88 - A used car dealer sells a car for Rs 7.6 lakhs and makes some loss. If he had sold it for Rs 9.2 lakhs his profit would have been thrice his loss. What was the
cost price of the car (in Rs lakhs)?

Teh Jo8 R Sier fonell SR &l 7.6 1@ 3 H 991 § SR I8 $© JhU™ BidT 8| I 98 59 9.2 ARG T H SFdT df JURT AT ST gTT+ oAl <1+ T[T EIdT| SR ol 3 Hed T AT? (ARG &
)

Options:

1) 8.5

2)8.75

3)8.25

4)8

Correct Answer: 8
Candidate Answer: 8

QID : 89 - 0.09% of 25% of 1200 is equal to,

1200 T 25% @71 0.09% & SRTSR g
Options:

Correct Answer: 0.27
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Candidate Answer: 0.27

QID : 90 - When a number is increased by 20, it becomes 116% of itself. What is the number?

ST foneft TRea & 20 ST ST & oY 9 W @1 116% 8t SiaT & | e 1 geit?
Options:

Correct Answer: 125
Candidate Answer: 125

QID : 91 - Two numbers are 50% and 75% lesser than a third number. By how much percent is the second number to be enhanced to make it equal to the first number?

3} HeeaTg foheft <fiedt e § 50% o 75% &H €1 gEt Tt ot ok ufaiera sgran S {36 a8 ugedt St 3 SRR gt smg?
Options:

Correct Answer: 100
Candidate Answer: 100

QID : 92 - Price of petrol increased from Rs 60/liter to Rs 75/liter. How much should the consumption of petrol be reduced (in %) so as to increase expenditure by only
10%?

gt &t hra 60 T/flex & Tgare 75 F/ftex 8t STt 81 Ugtel Y WU ot fohaT i (% H) ST R dTfeh ST gt @ chadt 10% 38?2
Options:

1)12

2) 20

3)15

4)18

Correct Answer: 12

Candidate Answer: 12

QID : 93 - A train has to cover a distance of 900 km in 25 hours. What should be its average speed in meters/second?

ek ¢ ot 900 foreft. Y Y 25 6 & T ahelt & dt ITh sitad 1y Hiew/Sdhe & g+t anfeg?
Options:

1) 20

2)10

3)18

4) 36

Correct Answer: 10

Candidate Answer: 10

QID : 94 - If a boat goes upstream at a speed of 18 km/hr and comes back the same distance at 30 km/hr. What is the average speed (in km/hr) for the total journey?

IS AT RT3 fAuda fe=m # 18 fenefivier/der it 91er & et & SR TAH o R 30 fheiieiiex/Her &t 1eT & arad 31Tl & | Foed T o g i =rer (Rheiieiiex/ger #) orm 82

Options:

1)22.5

2) 24

3)20.5

4) 25

Correct Answer: 22.5
Candidate Answer: 22.5

QID : 95 - Two cyclists A and B start cycling at 21 km/hr and 24 km/hr towards each other. They meet after 1 hour and 12 minutes. How far (in km) were they from
each other when they started?

3 arsfehet Gar A qur B 21 .+ /der iR 24 5.7 /5ieT &l el & Ten ER &l TR I IRY &hed 81 3 1 69 3R 12 fiFe 1€ U gER @ e €1 519 19 et U foa o a|
Tk st 1 gt (R, ) 7 ofi?

Options:

Correct Answer: 54
Candidate Answer: 54

QID : 96 - Excluding stoppages, the speed of a bus is 60 kmph and including stoppages, it is 45 kmph. For how many minutes does the bus stop per hour?

Tfe; form @t Frepter feam sig @Y a9 it arer 60 1. HY. /e & ofiR afe form Y anfiret fovar STg at 57 &Y aret 45 ok #ft./8er 81 99 Ui ger fham e & forg Tandt & 2
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Options:

1)12

2)9

3)15

4)10

Correct Answer: 15
Candidate Answer: 15

QID : 97 - If in 3 years at simple interest the principal increases by 15%. What will be the approximate compound interest earned (in Rs lakhs) on Rs 15 lakhs in 3
years at the same rate?

YR TS R 3 T # HeaeH 15% ¢ ST &1 S R W 15 ARG 39T TR 3 N TG T fehed=T Tergfeg; saTST (g wuat #) fAem?

Options:
1) 7.81
2)2.87
3)2.36
4) 3.38

Correct Answer: 2.36
Candidate Answer: [ NOT ANSWERED ]

QID : 98 - If the amount received at the end of 2" and 3™ year at compound Interest on a certain Principal is Rs 9,600 and Rs 10,272 respectively, what is the rate of
interest (in %)?

I forell erem IR gER SR feR g # e aret e, Iergfs =1 § 9,600 393 3R 10,272 303 § df =TS Y & (% H) a1 gifi?

Options:

Correct Answer: 7
Candidate Answer: 7

QID : 99 - A invested an amount of x rupees in a bank for 2 years which gave 5% interest in year 1 and 6% interest in year 2. The amount received after 2 years is Rs
24,486. What is the value of x?

A7 e Jon H x F00 Y fY a1 Fder 2 aef & g fomar a6 uget av 7 5% iR gaR a¥f 7 6% ol & @ =1 fean| 2 af a1g 3% 24,486 T et | x ol A R 87

Options:
1) 23000
2) 22500
3) 22000
4) 21500

Correct Answer: 22000
Candidate Answer: 22000

QID : 100 - What is the difference (in Rs) in Compound interest earned in 1 year on a sum of Rs 10,000 at 40% per annum compounded quarterly and annually?

Ifg 10,000 % R 40% aT¥es &aTet it X & 1 aY ek el ok arfifer aehqfeg saret ferar & |t 3 <1 | fohaar ofar (3 8) ghm?
Options:

Correct Answer: 641
Candidate Answer: 641





